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7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN�PHQJDQDOLVLV� ���� VHEHUDSD� EHVDU
SHQJDUXK�(FRQRPLF�9DOXH�$GGHG �(9$��SDGD�SHUXVDKDDQ�SURSHUWL�GDQ�UHDO�HVWDWH
WHUKDGDS�UHWXUQ�VDKDP ����SHQJDUXK�UDVLR�SURILWDELOLWDV�SDGD�SHUXVDKDDQ�SURSHUWL�
GDQ� UHDO� HVWDWH WHUKDGDS� UHWXUQ VDKDP�� 2E\HN� SHQHOLWLDQ DGDODK� SHUXVDKDDQ�
SURSHUW\� GDQ� UHDO� HVWDWH \DQJ� WHUGDIWDU� SDGD� %XUVD� (IHN� ,QGRQHVLD�� 3HQHOLWLDQ�
GLODNXNDQ� SDGD SHULRGH ����������� -HQLV� GDWD� DGDODK� GDWD� VHNXQGHU�� 'DWD�
GLNXPSXONDQ�GDUL�VLWXV�UHVPL�%XUVD�(IHN�,QGRQHVLD��0HWRGH�SHQJDPELODQ�VDPSHO�
PHQJJXQDNDQ� PHWRGH SXUSRVLYH� VDPSOLQJ�� $QDOLVLV� GLODNXNDQ� GHQJDQ� UHJUHVL�
EHUJDQGD�GHQJDQ�PHQJJXQDNDQ�6366�

+DVLO�SHQHOLWLDQ�LQL�PHQXQMXNNDQ�����(FRQRPLF�9DOXH�$GGHG �(9$� WLGDN�
EHUSHQJDUXK�VLJQLILNDQ WHUKDGDS�UHWXUQ�VDKDP SDGD�SHUXVDKDDQ�SURSHUWL�GDQ�UHDO�
HVWDWH \DQJ�WHUGDIWDU�GL�%XUVD�(IHN�,QGRQHVLD�����SURILWDELOLWDV�GHQJDQ�SURNVL�52$�
EHUSHQJDUXK�SRVLWLI�GDQ�VLJQLILNDQ�WHUKDGDS�UHWXUQ VDKDP�SHUXVDKDDQ�SURSHUWL�GDQ�
UHDO�HVWDWH \DQJ�WHUGDIWDU�GL�%XUVD�(IHN�,QGRQHVLD�

6DUDQ� %DJL� LQYHVWRU� DWDX� FDORQ� LQYHVWRU� \DQJ� LQJLQ� EHULQYHVWDVL� SDGD�
SHUXVDKDDQ�SURSHUWL�GDQ�UHDO�HVWDWH VHEDLNQ\D�WHUOHELK�GDKXOX�PHPSHUWLPEDQJNDQ
NLQHUMD� NHXDQJDQ� VHEHOXP� EHULQYHVWDVL� SDGD� VHEXDK� SHUXVDKDDQ�� 6DODK� VDWXQ\D�
\DQJ� KDUXV� GLSHUWLPEDQJDQNDQ� DGDODK� ELD\D� PRGDO� \DQJ� GLNHOXDUNDQ� ROHK�
SHUXVDKDDQ��GDQ�UHWXUQ�RQ�DVVHW NDUHQD�KDVLO�\DQJ�GLWHPXNDQ�SDGD�SHQHOLWLDQ� LQL�
DGDODK�DGDQ\D�KXEXQJDQ�\DQJ�VLJQLILNDQ SRVLWLI WHUKDGDS�UHWXUQ VDKDP�
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